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(English E3ion)
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Note : This question poper consists of three Sections-A, B and C.

SECTION - A

1. Very Short Answer Type Questionsr‘. 10x2=20
(i)  Answer oll the questions.
(1)) Each question carries two marks.

LI f00=20- 1900 = 22 for all R, thgfind (gofie). *

—

2. Find the domain of the real valuett Tunction f{x) \r 2%

3. Define symmetric matrix and give an example.

1 00
4 112=]% 3 4| and detA=45 then find x.
5 -6 x

5. If OAwi+j+kAB=3i-2j+kBC=i+2j-2kand CD=2i++3k then find the
vector Op -

6. Find the vector equation @£ the plane passing through the points
i-2 +5k,-5j~kond -3i +5].

7. letaand b be non-zero, non-cQllifiear vectors, If |2+ 51=\5 -], then find the angle

between 3 and b.
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8. Find the value of sin330%cos120° + cos210°sin300° |

9. If A-B= EE- then show that (1 —tanA) (1+tanB) =2.

(1) 1
10. Show that tanh 1[5] = Elogi.

SECTION - B
Sxd=
I, Short Answer Type Questions : .

(1)  Answer ony five questions.
(i) Each question carries four marks.

3y b g ble and
11. If A=|a, b, ¢;| is a non-singular matrix, then prove that A is invertible an

a by g

Al Ade.
detA

12 Ifthe points whose position vectors are 3{-2j—F, 2i+3] -4k, —i+] +2k and 4{+5]+ Ak 3re

1
coplanar, then show that A _T146

17 7

V13, If 3=2{+j-k b= i, hitps:/iwww. apboardonllne comy, {b x ¢c).

— —_— -

14. For AeR, prove that cosA cos[% + A] cos [% - A) = -i- cos3A and hence deduce that

2T v 47 1
COS—- Cos—- COS—- 0§ —=—,

9 9 9 16

15. Solve cot’x - (V3+1)cotx+y3=0;0<x <g,

<11 <11 11
/16, Prove that Tan =+ Tan 1= ¢ Tan212=T
2 S 8 4

17, 12 AABC, show that = S B=C
. Ina AABC, show tha 22 sn(B+Q)
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SECTION ¢ ..
I, Long Answer Type Questions : 5x7=35
(i)  Answer any five questions.
(i} Each question carries Seven morks.

48. Let f: A-8 be a bijection. Then prove that fof~ 1=, and [~ 1of =1x

~19, By using Mathematical Induction, 10 prove the statement ;

1,1 _1.-1- 1 = ,YneN

13735757 t -+l 2+l
3 b d 2bc-a° ¢ b?
2 2
£20. Showthat [° ¢ 9 © ¢ 2ac-b c\f =(a3+ b3 + - 3abc)?
cab b? 2l 2ab=c?

\‘l )
Solve 2x=y+3z=8, —x+2y+z=4 3x+ y-ﬁ:%ﬂ by using matrix inversion method
C

jZI‘
22. Find the shortest distance between the Skew(inxr?es.

F=(67+2] +2K) +1(T-27 +2K) and r=(-41 - k) +s(37 ~2] = 2K).

23, IfA JFB +C= ; tén prove that c0s2A +c0s28+c0s2C=1+4 sinA sinB sinC.

/ 24, In AABC, prove that r+ry +r,—r3=4R cosC.
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